-Lesson 2

1. Grace used 12 blocks to build a tower. Matt used 4 more blocks than Grace. How many blocks did Matt

use?
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{can draw a double tape diagram to \ /, e
represent the story. First, | can drawa ' - The storysays, “Matt used 4 more blocks
‘tape diagram that represents the than Grace.” S0, need to draw an exira
number of blocks, 12, that Grace used part of tape next to Matt’s to show that he
to build a tower and label her tape with used 4 more blocks than Grace. The
the letter G. Then | can draw a second unknown is the total number of blocks Matt
tape diagram to represent the numiber used. | can label this with a question mark. |
of blocks Matt used to build his tower \\ _ . ” ‘/i
and label it with the letter M. Since!
don’t yet know how many blocks Matt
used for his tower, | can begin by
drawing and labeling his tape the same

. size as Grace's. . i k
. To check that 've drawn and labeled all of the

known and unknowr information, | can read each
part of the story again. As | read, | can touch the
part of the double tape diagram that corresponds
to.what I'm saying.

1244 =1 16 Ngw i canra.fv.ri_}t_e a n-uﬁ?ber .
sentence t6 help me find the total
nuimiber of blocks and a statement

Miate gsed 16 blocks, ~ that answers the question.

2z Lesson 2: Soive compdre with bigger or sinaller unkiown problem typés. Eu ﬁE
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| can start by drawing
and labeling a double
tape diagram to
represent the story. |
will draw my two
tapes the samesize,

,\ivith a9,

i3-9=

Sumon found 4 seachells,

Lesson 2:

2. Susan found 9 fewer seashells than John. Johin found 13 seashells. How many seashells did Susan find?
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The first sentence of the \\\

stary says, “Susan found 9
fewer sgashells than
John.” That means.iohn.
found 9 more seashells
than Susan. {can show
this on my diagram by
adding another part to
John's tape and Iabeling it

The second sentence of the \\
probler says, “lohn found
13 seashells” That mieans
13 represents the total
nurnher of seashells lohn
found, so lcan putthe arms.
around lohn's entire tape
diagram and [abel it 13, The
guestion, however, is, "How
many seashells did Susan
find? 1 knowr that if | fing
out the unknown paft for
John's tape, then | also find

i can use subtraction to find the
missing part, Since John’s
missing partis 4, Stsan’s
missing pariis also 4 because
they zre the same size. 50,
Susan found 4 seashalls,

~

\iij-e unknown of Susan’s tapE/
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Solve conpare with bigger’ 6F sinailer uikoown probies types.




